Clearview Regional School District Math Dept. Name: KU'\/
Summer Packet For Students Entering Honors Geometry d '
Most Recent Math Courses Completed:

Dear Parent and Student,

This summer packet is meant for students to practice the skills
needed to be successful in Honors Geometry.

-Students are expected to attempt all the problems and attempt
them without a calculator.

-There will be a quiz given in class during the 2nd or 3rd week
of September that will reflect the problems and skills presented in
this summer packet. jCalculators will not be permitted on the quiz.

-Detailed solutions and explanations to the summer packet will
be posted on the high school/middle school websites on August

15t Students are expected to check their answers and use this
summer packet as a study guide for the quiz in September.

‘Enjoy the summer!

-Clearview Regional School District Mathematics Department
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SOLVE EACH SYSTEM OF EQUATIONS USING ELIMINATION

3k+5g=-12)2 2k—g=8>(“3
17162;{_39:_8}_3 ‘18]{6(]{_39__9 )
+l05:- 4 _;/‘/ o
Add bolh = ‘Cf
—gic + qu - QL’ ijﬂ‘l“adns fo ' |
- 0 cancel k! d_jg
1‘7\5’ FALSE

No Solut)zn
U +5(2)==12  splve o 'Y Hhece 7“\(\@ e?ua,-}'ltw\"}d

Con't inteuect

SIMPLIFY EACH RADICAL EXPRESSION
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EVALUATE EACH OF THE EXPRESSIONS WITHOUT THE USE OF A

CALCULATOR
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SOLVE EACH LINEAR EQUATION BELOW FOR ‘X’
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EVALUATE EACH EXPRESSION WITHOUT A CALCULATOR. LEAVE
ALL FINAL ANSWERS IN SIMPLEST FORM.
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USE THE DISTANCE AND MIDPOINT FORMULAS TO ANSWER THE
FOLLOWING QUESTIONS

A rectangle has vertices located at A(2,1) B(0,1) C(0,16) and D(2,16)
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48] What is the length of a diagonal from A to C?
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49] What are the coordinates of the pomt mldway between A and C?
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50] What is the slope of a line perpendicular to dlagonal AC?
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GRAPH EACH LINEAR EQUATION ON THE COORDINATE PLANES
PROVIDED.
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WRITE THE EQUATION OF THE LINE FROM THE GIVEN
INFORMATION. se Y =mx+b Form

54] Write an equation in slope-intercept form of the line passing through

(0,1) and is perpendicular to the line %x +4=y, M- pp ondic = ",/?L
b m

=~

55] Write an equation in slope-intercept form of the line passing through
(-9,5) and is perpendicular to the line y = -3x + 2. M_F%Pmd.mw 4 l/i?
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57] Write an equation in slope-intercept forrh of the line that passes through
(2,5) and has slope = -3.
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FOR #58-60 DETERMINE IF THE PAIR OF LINES ARE PARALLEL,
PERPENDICULAR, OR NEITHER.
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FOR EACH PROBLEM BELOW, THE SLOPE OF A LINE IS GIVEN.
DETEMINE THE SLOPE OF THE PERPENDICULAR LINE.
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